As per Section 41 A(D)

ai
% of Cr.P.C. the Police
1.

i a
ficer shall issue
z?lfeged accused thoug
cognizable o :
1r,gsuch other place as spect
all the cases where the arre

not required under the

notice directing the
h he has committed a
ffence, to appear before him or

fied in notice in
st of a person is

(A) Provisions of Sub-Section (1) of Section 41
(B) Provisions of Sub-Section (1) (a) of

Section 41

(C) Provisions of Sub-Section (1) (c) of

Section 41

(D) Provisions of Sub-Section (1) (b) of

Section 41

9. Find the number of termsin 1, 4, 7, 10, ..., 34.

A) 14 (B)
(€ 12 D)

10
9

3. Which of the following countries given below
is not having Veto power in the United

Nations Security Council ?
(A) France

(B) India

(C) China

(D) None of the above

4, The Suez canal links

El%
P

opsEa

(A) Red Sea — Mediterranean Sea

(B) Mediterranean Sea — B
(C) Black Sea — Dead Sea
(D) Red Sea — Black Sea

lack Sea

5. The scars on Potato are also called

(A) Annotation (B)
(C) Root (D)

6. In a house there are two

Eyes
Ears

clocks A and B.

Clock A uniformly gains 4 minutes per hour

and clock B uniformly lose

s 2 minutes per

hour. What will be the gap between the times
shown in the two clocks after 5 hours ?

(A) 48 minutes B)
(C) 30 minutes D)
T The_ sum of a number and
t.hr%ce the difference of the

reciprocal. The number is
A) 3 (B)

1
©) £
1= (D)
T

12 minutes
24 minutes

its reciprocal is
number and its

2
X

V2

- 2
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daft . # um 41 A (1) % HER, g™
siftrrd @ A sl foed wfud s

B G WY FQ F aEe, I0F dHA TT A=
¥ T W A 20 o Py fn S St foh
vt w1 e § fiffe 2, sl fed safE i
firegard) <Y STravashar TE ®

(A) 9T 41 T IT-UTT (1) & TEHTH

(B) 4T 41 %1 3Y-4 (1) (a ) & F@UH

(C) aTa 41 i I9-47 (1) (c) & JEUH

(D) T 41 1 39— (1) (b ) & WEUH

1, 4,7, 10, ..., 34 § yai =l T I10 L |

(A) 14 (B) 10

©) 12 ®) 9 @* o
R i AR m R agE Ty Do
g aftwg # et grag A8 2 7

(A) BT

(B) uTd

(€) ¥H

(D) IqUaa | B 1S Tl

FPITR_____ S |
(A) ST WR-YHET B
(B) YHE AFR-hTell 91K
(C) el ATR-Td &R

(D) AT HFR~ el G

T W Pt it e S R

(A) THITH (B) 3m§

(OREE D) FH

T H AANB A ufEai} | A iy 2 4 e
& wed eidl 8 3R B H ufd 92 2 fime < &t 2t
2 | 59 & a8 I ufedt # fam e ama % i
3 1 g ?

(A) 48 fime (B) 12 fime

(©) 30 g2 (D) 24 fie

T HEAT 3T ITH KA R AN S 3 ITh
e % S AH T8 | 98 T 8

A +3 (B) +J2
1 1
(€) 175— (D) iﬁ
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10.

11.

12.

13.

14.

16.

Herbivoures are also called as
(A) Decomposers

(B) Producers

(C) Secondary consumers

(D) Primary consumers

‘Neeru Meeru’ (water and you) programme
was launched in the state of

(A) Andhra Pradesh (B) Tamil Nadu

(C) Uttar Pradesh (D) Gujarat

In a sale, a perfume is available at a discount
of 15% on the selling price. If the perfume’s
discounted selling price is Rs. 3,675.40, what
was the original selling price of the perfume ?

(A) Rs. 4,294 (B) Rs. 4,324

(C) Rs. 4,400 (D) Rs. 4,386

Special characters that generally cannot be
typed from the keyboard are known as

10.

11,

CMES - S6
TITRTRITCA Rl off ed 2 |
(A) HTEEH
(B) 3ed1Eh
(C) Telares St
(D) wrefiyer Iqsa
“fre e’ (st 3f 3T A R T H R
TR e 7
(A) g W (B) AMHTS
(C) I e (D) T
w ¥ H,  wWEy w1
W 15% @ gg W I9ed B |
AT W F fEwd fawd qed
%. 3,675.40 2 1, WHE F T fasFd
T &1 41 ?
(A) ¥. 4,294 (B) %. 4,324
(C) ¥. 4,400 (D) %. 4,386
forsry SR S rTE: Frare A <feRd T8 e ST

gHEd_ wgaae |

(A) Symbol (B) Equation (a) fet (B) M
(C) Number (D) Letter (C) 7= ' (D) &
Find the missing letters in the sequence. 12. oW | g< 9 I T |
a_bbc_aab_caaa_bca_ a_bbc_aab_caaa_bca_
(A) aabbb (B) ababa (A) aabbb (B) ababa
(C) bbaab (D) aabba (C) bbaab (D) aabba
RTOS stands for 13. RTOS F fo AR |
(A) Risk Time Operating System (A) Toeh 2igH mﬁ.‘%ﬂ' foaeen o
(B) Running Time Operating System (B) tﬁ’ff"[ mﬂmﬁqﬂldﬁ?ﬂﬁmﬁm Eﬁi El
(C) Round Time Operating System (C) T3S 7H AT
(D) Real Time Operating System (D) Tt zrgm AL faen
Consider the following about the 14. Wiﬁﬂﬂﬁﬂﬁ‘aiﬁ'rjtﬁ fferias w femm st |
Indian Constitution. i, TET AT | |
i. Uniform Civil Code. (i, YTOE % Bad o Ay |
ii. Prohibition of Consumption of Liquor. {ii. TR YETEd W Sl el
iii. Promotion of Village Panchayath. - TeTl Y w3 |
iv. Promotion of the Cottage Industries. v @t e R o
All the above are the part of B ) T4 Al ¥ P R
(A) Directive Principles of State Policies (B) 1 ;
(B) Fundamental Duties © R
©) Fundanfne}::taleightS D) 3T 3 Q7
(D) None of the above ' i
; <l |
Headquarter of International ~ Labour 15. fawa s |med ISR (_._B)
Organisation is _ . (A) S AT
(A) Geneva (B) Manila Egﬁ ©) (D) ¥
(C) Rome (D) Hague R0

=
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16. Which plant movement is induced by injury ?
(B) Photonasty
(D) Nyctinasty

(A) Hydrotropism
(C) Tromatropism
17. How many times minute hand and the hour

hand point in opposite directions during
3 p.m. to 9 p.m. in a day ?

(A) zero (B) five
(C) four (D) six

18. The book titled “The Republic” was written by
(A) Plato (B) Aristotle
(C) Socrates (D) None of the above

19. In a word document
the letter only once.
(A) outlook

(C) messaging

is used to type

(B) mail merge
(D) e-mail

20. The largest salt water lake in India is
(A) Dal (B) Pulicat
%g (C) Chilka (D) Kolleru
yndE)

21. How many pollen sacs presentin each anther

lobe ?
(A) Five (B) Two
(C) One (D) Three

22. A man walks 10 kms towards North. From
there he walks 6 kms towards South. Then
he walks 3 kms towards East. How far and
in which direction is he with reference to his
starting point ?

(A) 7 kms towards West
(B) 7 kms towards East
(C) 5 kms towards North-East
(D) 5 kms towards West

23. If the base radius and the height of a
right circular cone are increaged by 20%,
then the percentage increase in volume is

approximately
(A) 78 (B) 60
(©) 73 (D) 68
24. There is low yield per acre but high yield per
person in

(A) Extensive commercial grain cultivation
(B) Mixed farming

(C) Co-operative farming

(D) Truck farming

I'11

16.

17.

18.

19.

20.

21.

22.

23.

24,

Gy E CMES -

G =5
;ﬁgaﬁmqﬁa?ﬁaﬁ?—vﬁwﬁfﬁﬁaﬂﬁﬁ%?
(A) TEGTSH (B) IEME
() JiriftH D) FreE
s R i 3 9 @ 9 St o S forft S fovfe e
;ﬁt{aﬁtﬁémﬁﬁ@ﬁqﬂaﬁmﬁﬁﬁ?
(A) A (B) s
uaw"mw%ﬂ%m%@ﬂi?ﬂ?
(A) = (B) 3
(C) g&td (D) sqﬁaﬂﬁ%@éqﬁ
wF g€ eEES § o1 AT U A FH
el T S 2fRd 0 & [T 2 |
(A) ITFEAF (B) #a Hsi
(C) AAf D) 3-7«
yrd § @R g i gead 92 o B
(A) Te (B) gferere
(C) oo (D) AT
e U e Fe e i 8 7
(A) 9" B) 3t
(C) D) =

TH 10 fF. 5. 39 ain T

| .4
AU
(A) ufvem i 37kt 7 f5 o,
(B) qd &l 31 7 o6 1t
(C) SW-gd i 37X 5 &5 Y.
(D) ufeem &t 3k 5 f. o,

e T T ety v i anuw st ok = A
20% Y gEfy Y wreft R, A s # T
wfcwra & gy @t 7
(A) 78 (B) 60
gﬁ D) 68
fore v Y @t FH BN T
tﬁwﬁmﬁﬁmw&mg?ﬁmm
(A) STUF AT 377 6 Tt
B) ffsma adt
(C) weehTdl Wt
(D) & @t
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26.

26.

217,

28.

29.

30.

31.

32,

38.

Qailors : Crew : : Sheep : ?

(A) Herd (B) Crowd

(C) Army (D) Flock

Arjuna Award was instituted in the year
1961. It is given to sports persons for
consistent outstanding performance for

(A) over the period of last five years

(B) over the period of last two years

(C) over the period of last four years

(D) over the period of last three years

In Power point using WordArt you can easily
create

(A) Logos (B) Seals

(C) Banners (D) All of the above
Two ladies and two men are playing bridge-a
card game and seated at North, East, South and
West of a table. No lady is facing east. Persons
sitting opposite to each other are not of the same

sex. One man is facing South. Which directions
are the ladies facing ? {

(A) North and West (B) East and West
(C) North and East (D) South and East

South Asian Association for Regional
Co-operation (SAARC) was established in
(A) 2001 (B) 2000

(C) 2010 (D) 1985

The book ‘Pahala Girmatiya’ was written by
(A) Gopal Krishna Gandhi

(B) Giriraj Kishore

(C) Rajmohan Gandhi Er’ﬁ

(D) Ramachandra Guha ee

The Aadhaar (Targeted Delivery @M
of Financial and other Subsidies,
Benefits and Services) Act was
enacted in which year ?

(A) 2019 (B) 2016

(C) 2018 (D) 2017

Body segmentation like rings is present in
(A) Annelida (B) Non chordata
(C) Chordata (D) Animalia

Which number come in the place of question
mark ?

3,5, 10, 12, 24,26, ?

) 28 ) 50

-5-
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26.
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28

29.

30.

31.

32.

33.
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Berd : foreg : c wfia: 7
(A) (B) 138
(C) i (D) v
375{Ht 3fars ofl warn ad 1961 1 g% | 98

ﬁﬁémﬂmﬁthm%%nﬁgamaﬁﬁm
Sidle |

(A) fredt of= aul &t aafu

(B) fra @ aul &t arafy

(C) frod s ol i eafy

(D) freat = adl i srafa

e drde § 93T 1 WA W §Q AT ! 4
T EFA© |

(A) & (B) &

(C) I (D) 2 gt

JaAgMmaaR N eI RET*
U A9 6 TR W & ST U WA h
I, i, 2 3 ufrem § 43 € | fored
ﬁmmg@qﬁaﬁraﬂtqﬁf%lﬁaﬂﬁs
gt 3 w1 U A o F A R | O
sfeR =1 @ 2 f 1 iR R | wfeensd
wg@ﬁ?&rﬁwﬁ%?

(A) I 3 ufvem (B) it ufeem
(C) W AR @ &7 il g
zfaror ofirard E.?rPﬂ ugu’m e (SAARC) #i
o #°

(A) 2001 (B) 2000

(C) 2010 (D) 1985

‘geen firmfean’ m%&%m%@nﬁtﬁ?
ki

®B) fifas

(C) TrstHTe et

(D) THEER TR

sur (ferera 3 s afsqe, @y i dansi &
afar faawon) srfarfaam frg ad s fear mar o 7

o

AE

E!‘?'-Ei

(A) 2019 (B) 2016
(C) 2018 (D) 2017

far &t e v HNE

(A) wifaestd @®) hTaEgad
(C) FrEzr (D) vy H

e forg & €9 TR - wE st ?
3, 6, 10, 12, 24, 26, ?
(A) 48 (B) 52
(C) 28 (D) 30

T11
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34.

35.

36.

EiE

37.

38.

39.

40,

41,

Tl

Central Soil Salinity Rescarch Institute
(CSSRI ) located in

(A) Delhi (B) Hisar ;:1 i;g
(€) Karnal (D) Rohtak K

UN General Assembly declared Human
Rights on

(A) 10 December 1948
(B) 10 December 1978
(C) 10 November 1948
(D) 10 November 1978

In the context of Indian economy, ¥Shsider

the following statements abqu'é\o Market
Stabilisation Scheme(MSS),

. Market Stabilization Scheme (MSS) is

a monetary policy intervention by the
RBI to withdraw excess liquidity (or
money supply) by selling

government securities in the economy.

II. The MSS was introduced in December
2020.

Choose the right option given below.

(A) Both the statements I and II are
correct

(B) The statement II is correct
(C) The statement I is correct
(D) None of the above

Find odd man out of the following.

1, 4,9, 16, 19, 36, 49, 64, 81

A) 16 B) 9

() 49 (D) 19

In cockroach fertilisation is

(A) Both(B) and (C) (B) External

(C) Internal (D) None of these

An example of horizontal group is
(A) Chance groups (B) Class groups
(C) Caste groups (D) Peer groups

India will develop a national strategy for
phasing down HFCs in the coming year, in
consultation with the industry and conclude by
(A) 2024 (B) 2021
(C) 2023 (D) 2022

that allows
The memory management scheme ‘
theeprocessor to be stored non-contiguously in
memory is

(A) Paging

(B) Spooling

(C) Swapping

(D) None of the ahove

-G-

34, {igen wiger AP frarel 0feTgE (CSSRI ) o

35.

36.

37.

38.

39,

40.

41.

CMES - g

fer e ?

@A) feeeft B) feamd
(C) e (D) Uew 4
Gy TR HRraw1 A AETieRT Hifd faw

(A) 10 fedeR 1948
(B) 10 fege 1978
(C) 10 &R 1948
(D) 10 &= 1978

TRed sTeferaeer & Hed H, A e d
(Tegeg) & = F fefafad wuEr = Gemfif
1. TR foieraor AT (THUEe) a7 ot o
g0 T wifze Hifa wwa R g & s
wfasgfagt =t St sreferaren § srfafiaq
T (91 51 A7) i aTed e et # |

I1. THUHTH i fager 2020 5 991 R mar ar |

frfefas & @ wdt frmoy w1 997 =57 |

(A) T 3R II 2] we a8t 2

(B) ®o II &t 2

(C) F4A1 wet 2

(D) 3909a & @ &+ 7
Freafirfa 3 & et s w3 |

1, 4,9, 16, 19, 36, 49, 64, 81

(A) 16 @) 9

(©) 49 D) 19
Hwta d i gy 2

@) B) ) (B awd

(C) =t (D) 5 A5 7
e T =61 vk FarEC 2

(A) | T ®B) =i aqg

(C) ifa we (D) w&wHT wxg
mﬁmﬁﬂﬁHFC@ﬁamﬁ%maﬁn%mﬁ
NI O T O R et
T HHTE FT 3 |

(A) 2024 (B) 2021

(C) 2023 (D) 2022
A AR Wi v U WidRn ) e Iustsy
A & g WS We A ward |

(A) afem

(B) wyfemm

(C) =i

(D) 3w o | w0 7l
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43.

44.

45.

46.

47.

EgnE

)

]

=

48.

If by arranging the letters of the word
NABMODINT, the name of a game is formed,
what are the first and the last letters of the
word formed ?

(A) B, N (B) B, T

(C) N,D D) AT

In a family, the average age of a father and
a mother is 35 years. The average age of the
father, mother and their only son is 27 years.
What is the age of the son ?

(A) 10 years (B) 12 years
(C) 15 years (D) 11 years

World Health Organization currently has
how many member states ?

(A) 189

(B) 190

(C) 185

(D) None of the above

Value of MPC lies between
(A) Oand 1 (B) 1and 2
(C) 2 and 4 (D) 0and 0.5

Vishing is mean for
(A) Phishing
(C) SMS phishing

(B) Voice phishing
(D) All the above

Consider the following statements about

double coincidence of wants.

1. When in the exchange, both parties
agree to sell and buy each other’s
commodities it is called double
coincidence of wants.

In the barter system double
coincidence of wants is an essential
feature.

Choose the right option given below.

(A) Both the statements I and II are
incorrect

(B) The statement I is correct

(C) Both the statements I and II are
correct

(D) The statement II is correct

11.

What is the missing number ?

(B) 4
(C) 6 (D) 6

o

43.

44.

45.

46.

47,

48.

CMES - S6

NABMODINT 722 % v 1 wxaftird #3 § ws
WS 1 A T R, IH 157 1 g 3R 33w 7o)
FR 7

(A) B, N (B) B, T

(C) N,D D) A, T

wh e i, far afi o i siee g 359 2
T, wran 3 39 gl sl ) aitea arg 27 i |
WR g ?

(A) 1039 (B) 1299

(C) 15a4 M) 1199
e R g Fadm i A gem T=g 2 7
(A) 189

(B) 190

(C) 185

(D) 37 # A =13 &

MPC &1 HH % ofe @ e |

(A) 0 3 1 B) 1 3k 2
(C) 2 3R 4 M) 0 IR 0.5
faf¥m =1 Haea 2 .
(A) fwfam (B) dfgg TwRm
(C) waunuE fHfRm (D) I aft

STTIFATS! % aret G4 & AR A Freferiaad Hui
o feEm Rt |
1. v e H, AT a8 -gE@
Fegatl A e i Ele % forg
TEad 2R & A1 38 STrEvEeRd &
SR HAW HET TR | _
I1. aaﬁﬁmwnsﬁﬁma’immmﬁ
afard fafvar 2 |

i 3 & T foreed &1 w7 & |
(A) e 1 3 I 2l |et e &
(B) e 1 &1 8
(C) 2t e 1 30 11 Wl &
(D) ®e 11 5E1 8
g I
B) 4
A 7
©) 6 (D) 6

T11
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ek

49,

ol

51.

52.

G63.

<]

T11

Which of the following gas is removed using
Scrubber ?

(A) H,
(©) Co,

(B) SO,
(D) NH,

One who emphasized upon uniqueness of
Indian culture and civilization and studying
Indian society as a whole is

(A) The traditionalist
(B) The nationalist
(C) The cosmopolitan
(D) The radicals

If the letters of the word RANDOM are
written in all possible orders and these
words are arranged as in a dictionary, then
the rank of the word RANDOM is

(A) 616 (B) 613

(C) 614 (D) 615 ~
Enlargement of the
commonly called ag

(A) Goitre

(C) Cretinism

thyroid gland is

(B) Hyperthyroidism
(D) Mutism

Select the correct mirror image of the given
figure when the mirror is placed at line AB,

NeD

(A) (B)

g8

(®)

¢
D) W’ | %

Y

49.

50.

62.

63,

CMES - SG

Frrferfiga 7 @ -8 N9 B Shaw F wy o
GEAR S (G T

(A) H, (B) SO,
(C) €O, (D) NH,
ot sl diepfa sl wvran i faftrem o 5,
feam st a9 @ vt @6 St
8
(A) TrETe
(B) Tegardl
(C) wHimaffere
(D) fswHem
HERANDOMw%awﬁaﬁmﬁ
wifera i 1 foren s oikt 37 e
I TH TGN F ®Y § FaR )
ST, df RANDOM 158 1 %1 8lm
(A) 616 (B) 613 [
(©) 614 D) 615 [’ﬁ%
gmﬁ%ﬁﬁfwwﬁmmma:___aﬁm
[
(A) ¥ (B) rfrmemifimy
(C) M= (D) T
AT SRR 1 ) e R e o )
AB WU @ s S |
‘A
NS
B
: NN
C> o
"0
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64.

55.

56.
617.

58.

59.

60.

61,

What was the theme of World Leprosy Day —
2021 ?
(A) Leprosy is not what you think

(B) Beat leprosy, end stigma and advocate
for mental wellbeing

(C) Ending discrimination stigma and
prejudice

(D) None of the above

A is B’s brother. C is D’s father. E is B's

mother. A and D are brothers. How is C
related to E ?

(A) Niece (B) Wife
(C) Sister-in-law (D) Husband
NO,
Sn+HCI )
orFerHOl ~ AT
(A) Ethanamine (B) Aniline
(C) Allylamine (D) Toluene

Which research technique would most likely
be used by a symbolic interactionist ?
(A) Questionnaires

(B) Participant observation

(C) Surveys

(D) None of the above

If 3 persons weave 168 shawls in

14 days, how many shawls will 8
persons weave in 5 days ?

=
HE!};L\ 0

(A) 160 (B) 90
(C) 126 (D) 106
In page tab, is used to reduce or

enlarge the print.
(A) orientation
(C) page numbering

(B) paper size
(D) scaling
In a certain language, TOOK is coded as 61, CAN
is coded as 18, then GUAVA will be coded as
(A) 57 (B) 52
(C) 62 (D) 54
offences cannot be inve.‘JFigated
by the Police on their own, unless directed

by the courts having jurisdiction to do so.
(A) Non-bailable (B) Cognizable

(C) Bailable (D) Non-cognizable

-0-

64,

55.

56.

57.

58.

59.

60.

61.

T A -

CMES - Sé6

forvar =g féem — 2021 F1 3dg wm w1 7
(A) g 9 7 s a9 Ay 3

(B) 1@ ! 81, Feieh THTE F1 3R AHIAF
e o) FERTd T

(C) u&TqTd shereh 3R g1 =1 TmTed e
(D) 3% # A FE 7

ABFWER|C,DF a2 |E, B
fAHRIAIDIERIC WER
FTEIY R 7
(A) st

(B) qFﬁE
(C) wrft

) g%
NO,

Sn+HCI AAR
2 o Ty W
or Fe+HCl

(A) 3897 (B) e

(C) TAETANHA (D) 2T

yefierrens ofa:FaErdt gara fre My 9 #
e arfirer 39 foran smem ?

(A) S¥ATEEh

(B) wfawrft sraeia

(C) waeTu

(D) I9T § A FE T

af g =aff 14 R 168 Wia g0 2, ot 8 =AfF
5 Tt 3 farer wiier A 7

(A) 160 (B) 90

(C) 126 (D) 105

LCECE R &1 v fiiz =t ger 71 7
F R da? | —

(&) e S

e T # TOOK F1 %2 61, CAN 1%z 18,
) GUAVA 1 2 &

(A) 57
(C) 62

(B) 52

Rre - 7
apqere] ) St giers 379 - 371 TRl
St et i T 5 e g 3 PR 7 e

& T ag ST R |
siu Rradk fIRrBIL A ag T E
(;I\L)‘ Ae-spr (B) er
(©) srr ) TR
T11
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% Meunde
An electron having mass (9.1 X 109 kg) and | 62. %=&WH (9.1x 10! f& M) (L6 1010y
n elecll

i charge (1.6 X 10"°C) moves in a circular path T e Seiag T Yo & | T %'T 1077/ 1
of radius 0.5 m with a velocity 10°ms™ in a % ae B 0.5 M. & T o T A W@ R
magnetic field. Strength of magnetic field is qahrg &3 i Tfad ©
(A) 3.6 x 10°T (B) 1.13 x 10°T (A) 3.6 X 10°T (B) 1.13x 10T
(C) 2.8 x 10T (D) 5.6 x 10-5T (C) 2.8x 10T (D) 5.6x10°T

63. In which battle Pulakeshi II killed 63. E]Flﬁﬁﬁ nafsg I8 T BT FH1 Y e ?
Mangalesha ? ;
(A) Ellwattusimbige (B) Manimangala @) Wﬁﬁm (B) HfereTent =
(C) Suramara (D) Narmada (C) guHu (D) e i
64, 1s used for tracking inflation. 64. HﬁT?—‘ﬁﬁ'{ &1 qq1 W & %QHEHH BaTe |
(A) WPI-IW (B) WPI . (A) WPI-IW (B) WPI
(C) CPLIW (D) CPI %%- (C) CPI.IW (D) CPI
65. The calendar of the year 1992 can 65. 1992 & shetvet i @ forg ad IuainT faram s gaman
be used again in the year 2?
(A) 2016 (B) 2010 (A) 2016 (B) 2010
(C) 2018 (D) 2020 (C) 2018 (D) 2020
66. H.C.F.and L.C.M. of p3q*rSand pfq°r! are 66. p°qir® AR pqirt FH ;ﬁﬁf{ gHadF C:if( SECL
Ul 2 ormNpTiCe.Com
(A) pgr?, péqirt (B) p*q’r®, p3qrd (A) pqirt, piqir® (B) p%q®®, piqrd
(C) p3q2r4' p8q4r4 (D) psqzr»a, p6q4r5 (C) p:iq!r-l' p5q4r4 (D) paqzr-t, pﬁq-irﬁ
67. is one way encryption algorithm 67. T /7l FIHT TETRAH @ ) TeT 3

that does not use any key to encrypt or
decrypt the data.

(A) Symmetric eryptography

(B) Public key cryptography

(C) Secret key cryptography

(D) Hash function

8. Name the deposits have a fixed period to
maturity

(A) Recurrent deposits
(B) Time deposits
(C) Current deposits

) Savings deposits

69. Drug prices in Indja are regulated to ensure
continued availability and affordability of
essential lifesaving drugs with improved
access to consumers by
(A) National Drugs Manufacturers

Authority (NDMA)
(B) National Drugs Authority (I\,I[,)A)
(C) National Pharmaceutical Pricing
Authority (NPPA)
(D) None .

T -10-

68.

69,

Wﬁm@@aﬁ%iﬁqﬁ;ﬁfﬁﬁwm
& ! |

Q) fafufees fremd

(B) ufsetas goft fopeiurdy

(C) Highe Foft frmmrfy

(D) B v

3G SHT &7 AW

ot AT et u e wfgeaan
A) amgfey smy

(B) w97 5wy

(C) =T str

(D) s=rd s
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73.

74.

15.

76,

A group of districts form a which

is looked after by an officer of the rank of
Deputy Inspector General of Police,

(A) Division (B) Range
(C) Circle (D) Block

The coagulation of egg white on boiling is a
common example of

(A) rancidification

of protein.
(B) oxidation

(C) denaturation (D) densification

Fron} the _given answer figures, select the
one in which the question figure is hidden/
embedded (Rotation is not allowed).

=7

A T
o ,_Cd'-}\ e‘fﬁ"
E i E AR |
©) all o)
Which pair of rational numbers lies between
1 and E?
4 4
9 31 262 762
@ % 2 1000’ 1000
24 T4 252 748
© To0’ 100 ®) {000’ 1000
Ascaris causes disease in .
(A) Heart (B) Inte.atme
(C) Eyes (D) Brain

The paid servant appointed by East India
Company to supervise weavers, collect
supp?ies and examine the quality of cloth

(A) Gomasthas
(C) Lathiyals

(B) Zamindars
(D) Jobbers

FDI in food processing is to the extent of
(A) 100% (B) 10%
(C) 76% (D) 50%

17
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72,

78.
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76.

76.
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foretl =1 vk T v

wRIfQers ve % vk arfirf
(A) WEe
(C) 3f=re

ST 2 30 gfem 3
%@'ﬂﬂﬁﬁm%
(B) 2t

(D) @z ;

JeTe W3S & The I h e T
1 IR R |

(A) TR BT (B) 3994
(C) fawapfoertor (D) T

<t 715 I it § @ o8 arrpfa ghe R v
el gt 8 /amifea B (A 6 ergafa 7 2) |

g
B) g

=
Y

%afrt g%aﬁqf@aﬁ@naﬁmaﬂw@n
2 ?

EIRLE
peacid
RG]

A)

© D)

2,2 262 752
@ 20 10 B) To00" 000
24 74 252 748
© To0’ 100 2 =
TEhH Admaae
©) (D) wfersh
e o wrataToT, S QAT 3 S QT
<1 witan v $ee 3 e fgea dami daw
(A) THTT (B) snffart
(C) wfdare (D) &It
Wﬂﬁmﬂﬂwmg.,_ THR
(A) 100% B) 10%
(©) 6% (D) 50% |
T11
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78.

79.

80,

81.

82,

83.

T11

If the third day of a month is Monday, which
of the following will be the fifth day from 21¢
of the month ?

(A) Wednesday (B) Monday

(C) Thursday (D) Tuesday

A man can row 6 km/h in still water. If
the speed of the current is 2 km/h, it takes
3 hours more in upstream than in the
down-stream for the same distance. The distance is

(A) 32 km (B) 30 km
(C) 20 km D) 24 km
In Excel error occurs when the cell
reference is invalid.
(A) #DIVIO! (B) #NAME?
(C) #REF! (D) #VALUE!

The cost of having a little more of one good
in terms of the amount of the other good that
has to be forgone is known as

(A) Replacement cost
(B) Historical cost T
(C) Opportunity cost
(D) Accounting cost

For a certain metal, incident frequency

Y is five times of threshold frequency %
and the maximum velocity of coming out
photoelectrons is 8 x 10%mg-!, If Yy =2y, the

maximum velocity of photoelectrons will be
(A) 1x 105ms-! (B) 4 x 10°ms™!
(C) 8 x 10°mg! (D) 6 x 10°ms™!

Saroj doesn’t like Dipankar. Pooja doesn’t
like Saroj. So, it is surprising that Pooja’s
son Hardik likes Dipankar.

Which of the following, most strongly,
Wweakens the above argument ?

(A) Hardik does not like Saroj

(B) Pooja likes Dipankar

(C) Hardik likes Saroj

(D) Saroj likes Pooja

The difference between the Revenye Receipts

plug Non-debt Capim]_ Receiptg (NDCR) and
the total expenditure is called

(A) Trade surplus
(C) Trade deficit
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21 %
e o fafefin 2 7an g 7 ’
(A) FER (B) ram
(C) TEER (D) HeTem

et e et | 6 fehet /52t Y wmm
%mﬁmﬁmmmﬁm%
¥ o aroedin o) g H ST A 362 arfry
T e §, g0

(A) 32 et (B) 30 ferrft

(©) 20 forft (D) 24 ferrft

uFE § Ffe Bft & 51 Ot ol g B}
(A) #DIVIO! (B) #NAME?

(C) #REF! (D) #VALUE!

fereht =req =1 eirer am srfiren et a1 g ) W
% =5t H o ol B B e, FEATAE |
(A) yfeeames s

(B) Ufcrerfas @ ——
(D) <T@ AT CHG!

fereft e 3 forw, s sy y i gy,
o9 O R 3 e a1 R wieredtw ) s

M8 X 10°ms R | y= , A BT &
e 3 By !

(A) 1% 105mg?

(B) 4 x 10°ms™!
(C) 8 x 105mg-!

(D) 6 % 10°ms™!
TS e wht g T e 2 | IS G I T
T heelt B | gafm 7w M Ham e frEmad R
I Y et qeia @ |

el 3 & e, T e w9 @ i
B S e B 7

(&) &fd 0% Y vtz i

(B) TS it Y waig e

©) =i = gt wwiq 2

(D) TS ) 71 iz 2

Wmﬁuiamm%ﬁgnmﬁuimmm
(A) =T 3nfRrgy (B) TSI wweT
(C) MR |1 (D) TN Tfer
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g4, Where is the Great Bath of Indus v
Civilization located ?

(A) Kalibangan
(C) Mohenjodaro

alley

(B) Harappa
(D) Lothal

§5. 10x10x 10 + (20 + 10 x 10-10)+6="2
(A) 106 B) 108
(C) 114 D) 111

86. Secret key cryptography is also called
(A) symmetric encryption
(B) asymmetric encryption
(C) plain encryption

(D) none of the above

87. In this question, two i
followed by two congﬁsti?)ﬁ:.méhi?sf 1‘:{}312
conclusion (s) which best fit (s) logically.
Statements :

1. Some Ais B

2. Some Bis not C
Conclusions :

I. Some Cis B

II. Some C is not B
(A) Both conclusions I and II follows
(B) Only conclusion II follows

(C) Either conclusion I or II follows
(D) Only conclusion I follows

88. Recently erupted active volcano from Mount
Merapi is in
(A) India
(C) Indonesia

89. is the process of changing
the appearance of text and making
presentation easier to read. .
(A) Adding graphics (B) Formatting
(C) Editing, (D) Presenting
Foomnptige O " .
90. Cars are safer than planes. Fifty percen
1t in death, while only one
percent of car accidents result in death.
Which of the following, if true, would most
seriously weaken the argument above ?
(A) Plane accidents are usually the fault of
gl air traffic controllers, not pilots
5 e i ften than cars
Aﬁlﬁ (B) Planes are inspected more often tha
(C) Pilots never fly under the influence of
alcohol, while car drivers often do
(D) The number of car accidents is several
hundred thousand times higher than
the number of plane accidents

(B) Myanmar
(D) Sri Lanka

-183-

CMES - Sg
84, fey i < weren a1 foromret T i
g R 7 SR
(A) SHTefam (B) &gom
(C) HigasiraTe! (D) dua
85. %ﬁ)x10><10-:-(20+10><10—10)+6=?
106
(©) 114 o 1
86. T(ﬁ;;ﬁa' T =t i gd € |
(B) ufafufes sformem
(C) = FfFwH
(D) IF H qF1E

&
87. 3 ¥ H, a1 syA fau mu ek e @) faerd fou

L. $35C, B2

II. ﬁC,BTé’f%I

(A) @1 e 1 37K 1T 7gator it @ |
(B) e frery 1 7gaw #al € |
(C) = at fsd 1 11 s7ge Fear @ |
(D) Fae ferd 1 orgeRo & € |

88. WS AUdl A T @ # geAaren | sy

H2 1
(A) WRd (B) MR
(C) $SHfRman WEisE
89, e e aaree @I uiaida s A wEgfd
1 qga & fore am A A qER
miE @) mfie Sire (B) W&
M (©) dare (D) g

90. fomm @ +it sareT YUt @ @R | fomm gedemati §
=T ST e il 8, Safeh Sheret Teh Sfowr H
a7 7 g gt # |
# A F-g1, a2 7 ?, @ FR R
e ! Ferd I T @ FHSA R 7
(A)ﬁwmmmww
EQ A o ¥, 7 5 gl ) ot @
(B) il e 3 famm @ avfive s fadaor
o STl @
(C) qrere @l oft yrua & 19 3 Igr A wa
Sraifan T ST TR I &
(D) i gefemai 6w famm gfenal 6
e A s e A At @

T11

Download from www.MsEducationTv.com



91.

93.

[5] vt
B
st (=]

94.

95.

T11

English Language

Fill in the blank with appropriate phrgsal
verbs from the alternatives given below it.
He business in the absence of his

father.
(A) carried off
(C) carried away

(B) carried out
(D) carried on

In the following question has four words
(options) of which three words have a similar
meaning or are synonyms one of the words
has a meaning different from the rest. Select
that word/option as the answer.

(A) Distinguish (B) Differentiate
(C) Licentious (D) Discern

Choose the right synonym of the given word.
Charity

(A) immaculate
(C) benevolence

(B) blame
(D) defraud

The following sentence contains grammatical
error or idiomatic error in it. You have to
find out that part of the sentence and choose
the alphabet of that part as your answer.
No sooner had I reached the office when I got
the news of your arrival.

(A) news of your arrival

(B) No sooner had

(C) when I got the

(D) I reached the office

FoawnoticeCom

In the following question, part of
the sentence is underlined. Below

are given alternatives to the
underlined part at (A), (B) and (C)

which may improve the sentence.

Choose the correct alternative. In

case no improvement is needed,

Your answer is (D)

Kiran was so afraid that his knees

knocked one another.

(A) both (B) and (C)

(B) each other

(C) one against

(D) no improvement

—.-'i
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femelt wrar
=y’ ueh Acad TR B, SHH qeHa
=R |
(A) T&
@)
(C) g4

(D) 379 @ FI3 el

“eE WA AR, I8 919 FHared | 8, 39 -5
=1 § FafeTt |

(A) THE G o= & 9T

(B) T E WA <= STQT

(C) THE A o Gehal @

(D) 78 & 13 &l

o w31 a1 weam wreet Y s sward s @, 3
.;__'L%'gl

(A) T fardaoy

B) fovrsg

(C) =i

(D) 3 | =¥ 7

= ¥R H W@ SO, TR T #
T IGO0 R |

(A) =

(B) =10

(C) =i

D) T q X 78

Hﬁ%‘%,?ﬁ%&‘igﬁm@aaﬁﬁ,
ST, AaT, o A |

(A) Svmef

(B) i

(C) 7=

(D) 71 8 H 7

~14-

Download from www.MsEducationTv.com -



